
8.2 – Calorimetry and Latent Heat Practice
1. How much energy would be absorbed as heat by 75 g of iron when heated from 295 K to 301 K. The specific heat of iron is 0.449 J/(g x oC).

2. How much energy is needed to raise the temperature of 45 g of aluminum from 22.4 oC to 94.6 oC? The specific heat of aluminum is 0.897 J/(g x oC)
3. You need to 70.2 J to raise the temperature of 34.0 g of ammonia (NH3) from 23.0 oC to 24 oC. Calculate the specific heat of ammonia.

4. If 980,000 J of energy are added to 6200 g of water at 291 K, what will the final temperature of the water be? The specific heat of water is 4.18 J/(g x oC)

5. You have a sample of H2O with a mass 23.0 grams at a temperature of  0 oC. How much energy is required to melt the ice?  (ΔHfusion of ice = 334 J/g).

6. Calculate the energy needed to change 23 g of water from 100 oC liquid to 100 oC steam (ΔHvaporization of water = 2260 J/g)

7. How much energy is required to raise the temperature of 1 kg of water from 10 °C to boiling point (100 °C)? (C = 4.18 J/g· oC)
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